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QUESTION 1

Which is the correct syntax to create an asmlib disk? 

DISK1 = asmlib disk name /dev/sdb1 = first device partition/dev/sdb = device name 

A. /usr/sbin/oracleasm add disk DISK1 /dev/sdfa 

B. /usr/sbin/oracleasm createdisk DISK1 /dev/sdb1 

C. /usr/sbin/oracleasm createdisk DISK1 /dev/sdb 

D. /usr/sbin/oracleasm map DISK1 /dev/sdb 

Correct Answer: B 

 

QUESTION 2

The Flex ASM instances in your four-node cluster currently have a cardinality of two. Identify the correct command that
will change the cardinality to three: 

A. $ srvctl modify asm -cardinality 3 

B. $ srvctl update asm -count=3 

C. $ srvctl modify asm -count 3 

D. $ srvctl modify flex count = 3 

Correct Answer: C 

 

QUESTION 3

You are doing a RAC implementation for a customer. Your customer states that they have the hardware to install
additional network adapters on each RAC node. ldentify three reasons for which they might need additional adapters 

A. Each server has at least two network adapters 

B. Each server was accidentally ordered with only one network adapter 

C. Each server is using network-attached storage on one or two of their adapters 

D. They want to use the Redundant Interconnect Usage feature 

E. Each server has two network adapters and RAC requires at least three 

Correct Answer: BCD 

 

QUESTION 4
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Which statement about the server Flex ASM is incorrect? 

A. Flex ASM requires an ASM instance on each cluster node running an Oracle Database instance 

B. Flex ASM allows ASM clients to remotely connect to ASM over a network. 

C. With Flex ASM ,a small pool of ASM instances can be used to serve a larger pool of database servers. 

D. When an ASM instance fails, the database clients and ASM cluster file systems can reconnect another ASM
instance. 

Correct Answer: A 

 

QUESTION 5

How many ASM Disk Group(s) do you need, if you want to have the redundancy level set to high (triple mirroring) for a
FILE? 

A. 1 

B. 2 

C. 3 

D. It depends on the number of different disks in a Disk Group, not the number of Disk Groups. 

Correct Answer: D 
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